[ ——

7,4,

NS
RGBT T N E

1) y<h

T (V.
=py/2

Som
|

2) y=h

W

pW :yW/]W
P =ph /2+p(y-h)

peo: A TR RGN/




Por fEW v ERMEA Y kRS 4 (kN/m)

y o SR gk E A eiE A (n)
he @ A F kL)
yoo RE AR E £ RN/

ARY k=LA77 d THPE

h = oa(HIL — LWL

/4

WL - 235% 2 % i ()
LHL : % 35% 3 i3 ()

a o ARRERIECRGR L2 B A 1S A

%\‘ ©
, ok RS | #k7 Vi
B (40 F 4 5%) (dotr #3Y)
BT B 1/3 2/3
W 7) 1/3 2/3
$1 4 2.3 1

PEARSRT  CERRP R



/HarborFacilityDesign_html/HarborFacilityDesign.html
/HarborFacilityDesign_html/5_HarborRefrenceData/HarborRefrenceData.html

